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int a;
scanf ( “%d” , &a);

if(a%2 == 0) {
printf ( “{B%¥n” );
}

elsef
printf( “F#H¥n" );
}
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int a;
scanf ( “%d” , &a);

if(a%2 == 0) {
printf ( “{B%¥n” ),
1

else if(a%3 == 0) {
printR( “3M{E%¥n” );

}
elsel
printf ( “HHMS7ZEL¥n" ) ;
}
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switch () { XF-BH A (char, short, int, long) D&
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break;
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int a;
scanf ( “%d” , &a);

switch (a%2) {
case 0:
printf ( “/B%¥n” ).
break;
default:
printf( “&F#¥n” ).

| case BB LA

int month;
scanf ( “%d” , &month) ;

switch (month) {

case 4. case b:

case 6: case 7:
printf ( “EZHA¥n” );
break;

case 10: case 11:

case 12: case 1:
printf ( “&=HR¥n” );
break;

default:
printf ( “K&A¥n” );
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—x%2+3/4 if |x| < 1/2
1
f(x) =1 (4x? —12|x|+9)/8 if§S|x|<3/2
if |x| > 3/2

2. UTONEHEHOEY 7R TEEX
F(x,y) = f(Of ()




